Solicitation#: B-10-037-DG  Contract #:  SAN ANTONIO WATER SYSTEM P. O. BOX 2449  SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS  PROPOSAL:  Job No. 09-7008  S & S Hills Subdivision 12-Inch Waterline Extension  TIME & 2:30 P.M.  DATE:  June 17, 2010				Principle Contracting Services, LLC		San Antonio Constructors 1 TD	PO Box 582008 San Antonio, Texas 78268-2008		One May Orandemotion Co. Inc	Granite Shoals, Texas 78654		VE Enouelton Construction &	Utilities, Inc. 18225 FM 2252 San Antonio, Texas 78266-2718		
-	Estimate Qty		Description	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total
500	1.00	LS	Tree Protection	\$500.00		\$500.00	\$2,000.00		\$2,000.00	\$5,000.00		\$5,000.00	\$1,800.00		\$1,800.00
503.1	134.00	SY	Driveway Repair (Concrete)	\$20.00		\$2,680.00	\$45.00		\$6,030.00	\$38.00		\$5,092.00	\$105.00		\$14,070.00
503.4	135.00	SY	Driveway Repair (Asphalt)	\$28.00		\$3,780.00	\$40.00		\$5,400.00	\$18.00		\$2,430.00	\$31.10		\$4,198.50
503.6	4.00	EA	Misc. Driveway Repair	\$1,600.00		\$6,400.00	\$1,000.00		\$4,000.00	\$2,500.00		\$10,000.00	\$224.00		\$896.00
511.3	31.00	SY	Trench Repair (Roadway)	\$50.00		\$1,550.00	\$40.55		\$1,257.05	\$48.00		\$1,488.00	\$99.00		\$3,069.00
316	1.00	LS	Surface Treatment, as directed by Bexar County	\$1,000.00		\$1,000.00	\$2,880.00		\$2,880.00	\$6,000.00		\$6,000.00	\$1,960.00		\$1,960.00
540	1.00	LS	Erosion and Sedimentation Control	\$1,000.00		\$1,000.00	\$3,000.00		\$3,000.00	\$8,000.00		\$8,000.00	\$14,500.00		\$14,500.00
550	1,877.00	LF	Trench Safety Program	\$1.40		\$2,627.80	\$1.00		\$1,877.00	\$1.50		\$2,815.50	\$0.80		\$1,501.60
530	1.00	LS	Barricades, Signs & Traffic Handling	\$2,500.00		\$2,500.00	\$4,500.00		\$4,500.00	\$5,000.00		\$5,000.00	\$6,260.00		\$6,260.00
818	570.00	LF	12-inch Waterline	\$42.00		\$23,940.00	\$59.61		\$33,977.70	\$45.00		\$25,650.00	\$46.30		\$26,391.00
818	1,307.00	LF	12-inch Waterline (Restrained and Unrestrained)	\$43.00	Percentage	\$56,201.00	\$59.61	Percentage	\$77,910.27	\$55.00	Percentage	\$71,885.00	\$50.50	Percentage	\$66,003.50
828	2.00	EA	4-inch Gate Valves	\$1,290.00	en	\$2,580.00	\$1,028.24	en	\$2,056.48	\$650.00	en	\$1,300.00	\$732.00	en	\$1,464.00
828	5.00	EA	12-inch Gate Valves	\$3,700.00	Perc	\$18,500.00	\$1,800.00	Perc	\$9,000.00	\$1,750.00	Perc	\$8,750.00	\$2,110.00	Perc	\$10,550.00
832	2.00	EA	16-inch x 12-inch Tapping Saddles and Valves	\$8,200.00		\$16,400.00	\$4,791.86		\$9,583.72	\$3,500.00		\$7,000.00	\$5,800.00	]	\$11,600.00
834	2.00	EA	Fire Hydrant Assembly	\$5,900.00		\$11,800.00	\$4,000.00		\$8,000.00	\$3,500.00		\$7,000.00	\$3,760.00		\$7,520.00
836	2.00	TN	Pipe Fittings, Allsize and types	\$2,750.00		\$5,500.00	\$2,950.00		\$5,900.00	\$4,500.00		\$9,000.00	\$3,630.00		\$7,260.00
840	1.00	EA	2-inch Watert Tie-ins	\$1,900.00		\$1,900.00	\$357.37		\$357.37	\$1,200.00		\$1,200.00	\$1,200.00		\$1,200.00
840	2.00	EA	4-inch Watert Tie-ins	\$2,900.00		\$5,800.00	\$675.37		\$1,350.74	\$1,500.00		\$3,000.00	\$1,780.00		\$3,560.00

Solicitation#: PROPOSAL TIME & DATE:	.:	P. O. BOX SAN ANT TABULA Job No. 09	ONIO, TEXAS 78298-2449 TION OF BIDS 0-7008 s Subdivision 12-Inch Waterline Extension	Principle Contracting Services, LLC	300 NE Loop 410, Suite D30 San Antonio, Texas 78209		San Antonio Constructors 1 TD	PO Box 582008 Antonio, Texas 78268-		Oss Marc Constitution of Los	Granite Shoals, Texas 78654		VK Knowlton Construction & Utilities, Inc. 18225 FM 2252 San Antonio, Texas 78266-2718			
Item No.	o. Estimate Qty Description		Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total		
841	3.00	EA	Hydrostatic Testing	\$2,500.00		\$7,500.00	\$1,000.00		\$3,000.00	\$1,000.00		\$3,000.00	\$861.00		\$2,583.00	
856.1	110.00	LF	Jacking, Boring, or Tunneling, 36-inch	\$300.00		\$33,000.00	\$255.00		\$28,050.00	\$260.00		\$28,600.00	\$349.00		\$38,390.00	
856.2	110.00	LF	36-inch Carrier Pipe	\$52.00		\$5,720.00	\$88.22		\$9,704.20	\$50.00		\$5,500.00	\$59.40		\$6,534.00	
856.3	110.00	LF	36-inch Casing or Liner	\$170.00		\$18,700.00	\$135.00		\$14,850.00	\$130.00		\$14,300.00	\$162.00		\$17,820.00	
2000	2.00	EA	PRV Asembly	\$38,000.00		\$76,000.00	\$33,244.21		\$66,488.42	\$37,000.00		\$74,000.00	\$48,100.00		\$96,200.00	
			SUB-TOTAL BASE BID			\$305,578.80			\$301,172.95			\$306,010.50			\$345,330.60	
100	1.00	LS	Mobilization		1.0%	\$3,055.79		7.0%	\$21,082.11		9.8%	\$30,000.00		5.2%	\$18,100.00	
101	1.00	LS	Preparing R.O.W.		1.0%	\$3,055.79		5.0%	\$15,058.65		4.2%	\$13,000.00		1.7%	\$6,010.00	
	Mobilization and Preparing ROW Sub Total								\$36,140.76			\$43,000.00			\$24,110.00	
		Total Bid Amount Including Addendum 1	\$311,690.38			\$337,313.71			\$349,010.50			\$369,440.60				
CALENDA	AR DAYS TO C			180			180			180			180			
									[2]		•	[3]			[4]	

Solicitation#: B-10-037-DG  Contract #:  SAN ANTONIO WATER SYSTEM P. O. BOX 2449  SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS  PROPOSAL:  Job No. 09-7008  S & S Hills Subdivision 12-Inch Waterline Extension  TIME & 2:30 P.M.  DATE:  June 17, 2010			Principle Contracting Services, LLC 900 NE Loop 410, Suite D302 San Antonio, Texas 78209			San Antonio Constructors, LTD PO Box 582008 San Antonio, Texas 78268-2008			Oro May Construction Co. Inc	Granite Shoals, Texas 78654			Wauters Engineering 12870 Adkins St, Hedwig Road St Hedwig, Texas 78152			Granite Shoals, Texas 78654			
Item No.	Estimate Qty		Description	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price
500	1.00	LS	Tree Protection	\$500.00		\$500.00	\$2,000.00		\$2,000.00	\$5,000.00		\$5,000.00	\$2,508.60		\$2,508.60	\$2,500.00		\$2,500.00	\$1,804.30
503.1	134.00	SY	Driveway Repair (Concrete)	\$20.00		\$2,680.00	\$45.00		\$6,030.00	\$38.00		\$5,092.00	\$120.71		\$16,175.14	\$75.00		\$10,050.00	\$82.10
503.4	135.00	SY	Driveway Repair (Asphalt)	\$28.00		\$3,780.00	\$40.00		\$5,400.00	\$18.00		\$2,430.00	\$30.53		\$4,121.55	\$35.00		\$4,725.00	\$50.50
503.6	4.00	EA	Misc. Driveway Repair	\$1,600.00		\$6,400.00	\$1,000.00		\$4,000.00	\$2,500.00		\$10,000.00	\$1,304.25		\$5,217.00	\$5,000.00		\$20,000.00	\$1,164.00
511.3	31.00	SY	Trench Repair (Roadway)	\$50.00		\$1,550.00	\$40.55		\$1,257.05	\$48.00		\$1,488.00	\$36.63		\$1,135.53	\$50.00		\$1,550.00	\$133.10
316	1.00	LS	Surface Treatment, as directed by Bexar County	\$1,000.00		\$1,000.00	\$2,880.00		\$2,880.00	\$6,000.00		\$6,000.00	\$12,543.00		\$12,543.00	\$10,000.00		\$10,000.00	\$5,085.70
540	1.00	LS	Erosion and Sedimentation Control	\$1,000.00		\$1,000.00	\$3,000.00		\$3,000.00	\$8,000.00		\$8,000.00	\$5,522.25		\$5,522.25	\$15,000.00		\$15,000.00	\$10,306.30
550	1,877.00	LF	Trench Safety Program	\$1.40		\$2,627.80	\$1.00		\$1,877.00	\$1.50		\$2,815.50	\$2.26		\$4,242.02	\$2.00		\$3,754.00	\$0.60
530	1.00	LS	Barricades, Signs & Traffic Handling	\$2,500.00		\$2,500.00	\$4,500.00		\$4,500.00	\$5,000.00		\$5,000.00	\$2,486.40		\$2,486.40	\$5,000.00		\$5,000.00	\$3,748.60
818	570.00	LF	12-inch Waterline	\$42.00		\$23,940.00	\$59.61	4	\$33,977.70	\$45.00	4.	\$25,650.00	\$43.60	4)	\$24,852.00	\$45.00	4	\$25,650.00	\$61.90
818	1,307.00	LF	12-inch Waterline (Restrained and Unrestrained)	\$43.00	Percentage	\$56,201.00	\$59.61	Percentage	\$77,910.27	\$55.00	tage	\$71,885.00	\$51.42	Percentage	\$67,205.94	\$50.00	tage	\$65,350.00	\$68.20
828	2.00	EA	4-inch Gate Valves	\$1,290.00	en	\$2,580.00	\$1,028.24	en	\$2,056.48	\$650.00	eni	\$1,300.00	\$1,111.58	eni	\$2,223.16	\$900.00	eni	\$1,800.00	\$965.40
828	5.00	EA	12-inch Gate Valves	\$3,700.00	erc	\$18,500.00	\$1,800.00	erc	\$9,000.00	\$1,750.00	Percentag	\$8,750.00	\$2,292.91	erc	\$11,464.55	\$2,400.00	Percentag	\$12,000.00	\$2,558.10
832	2.00	EA	16-inch x 12-inch Tapping Saddles and Valves	\$8,200.00		\$16,400.00	\$4,791.86	I	\$9,583.72	\$3,500.00	<b>—</b>	\$7,000.00	\$3,869.93	<b>—</b>	\$7,739.86	\$6,500.00	1	\$13,000.00	\$7,620.50
834	2.00	EA	Fire Hydrant Assembly	\$5,900.00		\$11,800.00	\$4,000.00		\$8,000.00	\$3,500.00		\$7,000.00			\$6,482.14	\$4,500.00		\$9,000.00	\$3,478.10
836	2.00	TN	Pipe Fittings, Allsize and types	\$2,750.00		\$5,500.00	\$2,950.00		\$5,900.00	\$4,500.00		\$9,000.00	\$5,153.69		\$10,307.38	\$5,000.00		\$10,000.00	\$5,960.40
840	1.00	EA	2-inch Watert Tie-ins	\$1,900.00		\$1,900.00	\$357.37		\$357.37	\$1,200.00		\$1,200.00	\$785.52		\$785.52	\$1,500.00		\$1,500.00	\$1,567.90
840	2.00	EA	4-inch Watert Tie-ins	\$2,900.00		\$5,800.00	\$675.37		\$1,350.74	\$1,500.00		\$3,000.00	\$2,480.56		\$4,961.12	\$1,500.00		\$3,000.00	\$3,035.70

PROPOSAL:		Contract #:  SAN ANTONIO WATER SYSTEM P. O. BOX 2449  SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS Job No. 09-7008  S & S Hills Subdivision 12-Inch Waterline Extension  2:30 P.M.  June 17, 2010		Principle Contracting Services, LLV 900 NE Loop 410, Suite D302 San Antonio, Texas 78209			OTL 1 such out of other other or other oth	Antonio, Texas 78268-				Wauters Engineering 12870 Adkins St, Hedwig Road St Hedwig, Texas 78152							
Item No.	. Estimate Qty Description		Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price		Total	Unit Price	
841	3.00	EA	Hydrostatic Testing	\$2,500.00		\$7,500.00	\$1,000.00		\$3,000.00	\$1,000.00		\$3,000.00	\$1,508.52		\$4,525.56	\$2,500.00		\$7,500.00	\$1,468.60
856.1	110.00	LF	Jacking, Boring, or Tunneling, 36-inch	\$300.00		\$33,000.00	\$255.00		\$28,050.00	\$260.00		\$28,600.00	\$491.73		\$54,090.30	\$350.00		\$38,500.00	\$378.70
856.2	110.00	LF	36-inch Carrier Pipe	\$52.00		\$5,720.00	\$88.22		\$9,704.20	\$50.00		\$5,500.00	\$53.36		\$5,869.60	\$100.00		\$11,000.00	\$36.70
856.3	110.00	LF	36-inch Casing or Liner	\$170.00		\$18,700.00	\$135.00		\$14,850.00	\$130.00		\$14,300.00	\$139.25		\$15,317.50	\$150.00		\$16,500.00	\$144.00
2000	2.00	EA	PRV Asembly	\$38,000.00		\$76,000.00	\$33,244.21		\$66,488.42	\$37,000.00		\$74,000.00	\$39,329.44		\$78,658.88	\$35,500.00		\$71,000.00	\$44,169.10
			SUB-TOTAL BASE BID			\$305,578.80			\$301,172.95			\$306,010.50			\$348,435.00			\$358,379.00	
100	1.00	LS	Mobilization		1.0%	\$3,055.79		7.0%	\$21,082.11		9.8%	\$30,000.00		7.9%	\$27,417.00		9.9%	\$35,500.00	
101	1.00	LS	Preparing R.O.W.		1.0%	\$3,055.79		5.0%	\$15,058.65		4.2%	\$13,000.00		1.8%	\$6,440.00		5.0%	\$17,800.00	
		M	Iobilization and Preparing ROW Sub Total			\$6,111.58			\$36,140.76			\$43,000.00			\$33,857.00			\$53,300.00	
	Total Bid Amount Including Addendum 1					\$311,690.38			\$337,313.71			\$349,010.50			\$382,292.00			\$411,679.00	
CALEND	CALENDAR DAYS TO COMPLETE					180			180			180			180			180	
						[1]			[2]			[3]			[5]			[6]	

Solicitation#: B-10-037-DG Contract #:  SAN ANTONIO WATER SYSTEM P. O. BOX 2449  SAN ANTONIO, TEXAS 78298-2449  TABULATION OF BIDS  PROPOSAL: Job No. 09-7008  S & S Hills Subdivision 12-Inch Waterline Extension  TIME & 2:30 P.M.  DATE: June 17, 2010				San Antonio, Texas 78209		San Antonio Constructore 1TD	PO Box 582008 Antonio, Texas 78268-			Granite Shoals, Texas 78654		Ella Contracting, L.P. 10536 FM 1560 North San	Antonio, Texas 78254		Holloman Utilities 13730 IH-10 East Converse, Texas 78109			Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas 78223		
Item No.	Estimate Qty		Description	Unit Price		Total	Unit Price		Total	Unit Price		Total		Total	Unit Price		Total	Unit Price		Total
500	1.00	LS	Tree Protection	\$500.00		\$500.00	\$2,000.00		\$2,000.00	\$5,000.00		\$5,000.00		\$1,804.30	\$1,120.00		\$1,120.00	\$1,000.00		\$1,000.00
503.1	134.00	SY	Driveway Repair (Concrete)	\$20.00		\$2,680.00	\$45.00		\$6,030.00	\$38.00		\$5,092.00		\$11,001.40	\$80.00		\$10,720.00	\$69.00		\$9,246.00
503.4	135.00	SY	Driveway Repair (Asphalt)	\$28.00		\$3,780.00	\$40.00		\$5,400.00	\$18.00		\$2,430.00		\$6,817.50	\$30.00		\$4,050.00	\$40.00		\$5,400.00
503.6	4.00	EA	Misc. Driveway Repair	\$1,600.00		\$6,400.00	\$1,000.00		\$4,000.00	\$2,500.00		\$10,000.00		\$4,656.00	\$1,120.00		\$4,480.00	\$1,000.00		\$4,000.00
511.3	31.00	SY	Trench Repair (Roadway)	\$50.00		\$1,550.00	\$40.55		\$1,257.05	\$48.00		\$1,488.00		\$4,126.10	\$100.00		\$3,100.00	\$100.00		\$3,100.00
316	1.00	LS	Surface Treatment, as directed by Bexar County	\$1,000.00		\$1,000.00	\$2,880.00		\$2,880.00	\$6,000.00		\$6,000.00		\$5,085.70	\$7,050.00		\$7,050.00	\$50,000.00		\$50,000.00
540	1.00	LS	Erosion and Sedimentation Control	\$1,000.00		\$1,000.00	\$3,000.00		\$3,000.00	\$8,000.00		\$8,000.00		\$10,306.30	\$6,830.00		\$6,830.00	\$7,700.00		\$7,700.00
550	1,877.00	LF	Trench Safety Program	\$1.40		\$2,627.80	\$1.00		\$1,877.00	\$1.50		\$2,815.50		\$1,126.20	\$1.00		\$1,877.00	\$1.00		\$1,877.00
530	1.00	LS	Barricades, Signs & Traffic Handling	\$2,500.00		\$2,500.00	\$4,500.00		\$4,500.00	\$5,000.00		\$5,000.00		\$3,748.60	\$8,060.00		\$8,060.00	\$20,000.00		\$20,000.00
818	570.00	LF	12-inch Waterline	\$42.00	4)	\$23,940.00	\$59.61	4)	\$33,977.70	\$45.00	4)	\$25,650.00	4)	\$35,283.00	\$50.00	4)	\$28,500.00	\$82.00	4)	\$46,740.00
818	1,307.00	LF	12-inch Waterline (Restrained and Unrestrained)	\$43.00	Percentage	\$56,201.00	\$59.61	tage	\$77,910.27	\$55.00	Percentage	\$71,885.00	Percentage	\$89,137.40	\$70.00	Percentage	\$91,490.00	\$87.00	Percentage	\$113,709.00
828	2.00	EA	4-inch Gate Valves	\$1,290.00	cen	\$2,580.00	\$1,028.24	cen	\$2,056.48	\$650.00	cen	\$1,300.00	cen	\$1,930.80	\$780.00	cen	\$1,560.00	\$500.00	cen	\$1,000.00
828	5.00	EA	12-inch Gate Valves	\$3,700.00	er	\$18,500.00	\$1,800.00	Percenta	\$9,000.00	\$1,750.00	er	\$8,750.00	er	\$12,790.50	\$2,430.00	er	\$12,150.00	\$2,100.00	er	\$10,500.00
832	2.00	EA	16-inch x 12-inch Tapping Saddles and Valves	\$8,200.00		\$16,400.00	\$4,791.86		\$9,583.72	\$3,500.00	_	\$7,000.00		\$15,241.00	\$4,720.00		\$9,440.00	\$7,000.00		\$14,000.00
834	2.00	EA	Fire Hydrant Assembly	\$5,900.00		\$11,800.00	\$4,000.00		\$8,000.00	\$3,500.00		\$7,000.00		\$6,956.20	\$3,220.00		\$6,440.00	\$4,000.00		\$8,000.00
836	2.00	TN	Pipe Fittings, Allsize and types	\$2,750.00		\$5,500.00	\$2,950.00		\$5,900.00	\$4,500.00		\$9,000.00		\$11,920.80	\$6,630.00		\$13,260.00	\$4,500.00		\$9,000.00
840	1.00	EA	2-inch Watert Tie-ins	\$1,900.00		\$1,900.00	\$357.37		\$357.37	\$1,200.00		\$1,200.00		\$1,567.90	\$1,310.00		\$1,310.00	\$700.00		\$700.00
840	2.00	EA	4-inch Watert Tie-ins	\$2,900.00		\$5,800.00	\$675.37		\$1,350.74	\$1,500.00		\$3,000.00		\$6,071.40	\$2,340.00		\$4,680.00	\$1,000.00		\$2,000.00

				Principle Contracting Services, LLC 900 NE Loop 410, Suite D302 San Antonio, Texas 78209	I Antonio, Texas 78 Intonio Constructors PO Box 582008 Intonio, Texas 7826				Qro Mex Construction Co.,Inc PO Box 2608 Granite Shoals, Texas 78654			ac	Antonio, Texas 78254	Holloman Utilities 13730 IH-10 East Converse, Texas 78109			Pronto Sandblasting & Coating 9456 South Presa San Antonio, Texas 78223		
Item No.	Estimate Qty		Description	Unit Price	Total	Unit Price		Total	Unit Price		Total		Total	Unit Price		Total	Unit Price		Total
841 856.1	3.00	EA LF	Hydrostatic Testing  Jacking, Boring, or Tunneling, 36-inch	\$2,500.00	\$7,500.00 \$33,000.00	\$1,000.00 \$255.00	_	\$3,000.00	\$1,000.00 \$260.00		\$3,000.00		\$4,405.80 \$41,657.00	\$2,030.00 \$330.00		\$6,090.00	\$1,200.00 \$500.00		\$3,600.00 \$55,000.00
856.2	110.00	LF	36-inch Carrier Pipe	\$52.00	\$5,720.00	\$88.22	=	\$9,704.20	\$50.00		\$5,500.00		\$4,037.00	\$30.00		\$3,300.00	\$300.00		\$33,000.00
856.3	110.00	LF	36-inch Casing or Liner	\$170.00	\$18,700.00	\$135.00		\$14,850.00	\$130.00		\$14,300.00		\$15,840.00	\$200.00		\$22,000.00	\$140.00		\$15,400.00
2000	2.00	EA	PRV Asembly  SUB-TOTAL BASE BID	\$38,000.00	\$76,000.00 \$305,578,80	\$33,244.21	=	\$66,488.42 <b>\$301,172.95</b>	\$37,000.00		\$74,000.00 <b>\$306,010.50</b>		\$88,338.20 \$383,849.10	\$37,360.00		\$74,720.00 \$358,527.00	\$54,000.00		\$108,000.00 \$522,972.00
100	1.00	LS	Mobilization	1.0%	\$3,055.79		7.0%	\$21,082.11		9.8%	\$30,000.00	5.9%	\$22,801.10		8.2%	\$29,480.00		7.6%	\$40,000.00
101	1.00	LS	Preparing R.O.W.	1.0%	\$3,055.79		5.0%	\$15,058.65		4.2%	\$13,000.00	1.4%	\$5,538.30		3.2%	\$11,450.00		3.4%	\$18,000.00
	Mobilization and Preparing ROW Sub Total				\$6,111.58			\$36,140.76			\$43,000.00		\$28,339.40			\$40,930.00			\$58,000.00
	Total Bid Amount Including Addendum 1				\$311,690.38			\$337,313.71			\$349,010.50		\$412,188.50			\$399,457.00			\$580,972.00
CALENDA	CALENDAR DAYS TO COMPLETE				180			180			180		180			180			180
				[1]	]		[2]			[3]		[7]	]		[8]	]		[9]	